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UGC NET PAPER 2 DECEMBER 26, 2021 SHIFT 1 HINDI QUESTION PAPER:

Topic:- Hindi_SH1_3et1_A
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[Question ID = 21][Question Description = Q21_Hindi_SH1_Set1_A]
1. 1 [Qption 1D = 81]
2. 2 [Option ID = 82)
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22)

6eE: | T W,

U 9/ JATFHIEH|

FEf A IF T -G W RGE 2 W WA E -

(1) g (2) FFdE

(3)  ofaia Iufg (4) wadad M

[Question ID = 22][Question Description = Q22_Hindi_SH1_Set1_A]
1. 1 [Option 1D = 85]
2. 2 [Option ID = 86)
3. 3 [Option ID = 87)
4, 4 [Option ID = 38]

23)

‘T T T A T

=1 Thgt AT !

0@ B wfasw g8 YHUR

udi 2 fe=mam

T FHTEATS 1 UfagT 2

(1) i e 2 (2)  g¥9 % T e w1 2
(¢ o % e oy s f @ el e 8
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3, 3 [Option ID = 215]
4. 4 [Option ID = 218]

B ffag § 3 T wedl sidem ¥ warimr S

(A T EE

® e

(C)  TowmeE =

D) T TEa

4 fom o et 1 3wl v w1 7 i -

D (&) (D) (2 ®) D)
(3 Q) () @ () HD)

[Question ID = 55][Question Description = Q55_Hindi_SH1_Set1_A]
1. 1 [Option 1D = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4, 4 [Option 1D = 220]

hé
bt e 3 e -

(A)  FRfEEE

(B) 3 e

¢y =uien i

(@ g aem

#4r3 feo mo i F @ wdawm = T i -

Ly (B IO (2) (A) 3R (B)
(3 (4 AD) ) (C) (D)

[Question ID = 56][Question Description = Q5&_Hindi_SH1_Set1_A]
1. 1 [Option 1D = 221]
2. 2 [Option ID = 222]
3 3 [Option ID = 223]
4. 4 [Option 1D = 224]

57} ez yE T IE R o werE & an 1 foran @ -
(a) A wEitEl Sfem F 92 wits w9 1 2Rl o)
B) =HH it ¥ 1\ F UF Wi wE =W @ 2

(©)  =\f =i A watE 1 us g ail ig 2
(D) 35! TN & Wil W &, Yl & "o Hl 39E T2

I feo o Feegl 0 4 wfi s =99 i -
1 @ D) 2 B 3
3 (B IO (4) (&) 3R(C)

[Question ID = 57][Question Description = Q57 _Hindi_SH1_5et1_A]
1. 1 [Option ID = 225]
2. 2 [Qption 1D = 226]
3. 3 [Qption 1D = 227]
4, 4 [Qption 1D = 228)
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58) ey T % FEy-TaE §

(A)  =EET

® g

(C) s < A

D) ol w

i feu mu fomeai § O wE SW F =9 Fifw -

D (&) R(D) (2 (B} 3 ()
(3 (B (D) @ (&) 3 (C)

[Question ID = 58][Question Description = Q58_Hindi_SH1_Set1_A]
1. 1 [Qption 1D = 229]
2. 2 [Option 1D = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

I frfafian § 3 s it F Fau

(A) TR
By  wEn
(Cy o= Fwm

(D) =5d 6 7

A= 5u e famreat @ o v v F1 =57 Fitew -

L (A FR(B) (2) (B) (D)
(3 (€ SR D) @ (A Q)

[Question ID = 59][Question Description = Q59_Hindi_SH1_Set1_A]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Qption 1D = 236]

60} ‘ot R M W ¥ wafod ‘TR ¥ gy e % ued i Fafafin § § s od 37

(A) Tk zER i wEeE
B)  FEE % =rers i wEel
(@ o e R wrli
(D)  wEAgA i e

4 fou o famewi § & W TR F7 =4 Fiten —
1 Q) IO (@) (&) kD)
8 (A) R B @) (B) & (C)

[Question ID = 60][Question Description = Q60_Hindi_SH1_Set1_A]
1. 1 [Option 1D = 237]
2, 2 [Option ID = 238]
3. 3 [Option ID = 239]
4, 4 [Option 1D = 240]

) qrr—anfze & gaftr Tge igerTa o g § -

(Ay o Sfe-arm

®  fowm awh

(Cy Ol wiErE T

Dy Toema A &t e

4 feu me freedl 0 9 af e w1 vy Hifve -

L @) FR@® (2) (B) 3R (C)
(3 (C) IRD) @) (&) 3 (D)

[Question ID = 61][Question Description = Q61_Hindi_SH1_S5et1_A]
1. 1 [Option I = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4, 4 [Option ID = 244)

62} frafafag § O wHT—w AEER % ST o BT

Ay T

(B} M=
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(L) sowig

@)  Fdt

i feu T fomedi § O WE SR F =9 i -

1) (A (B (2 (B) ¥ (D)
3 (A) RO 4 (C) ¥ (D)

[Question ID = 62][Question Description = Q62_Hindi_SH1_Set1_A]
1. 1 [Option 1D = 245]
2. 2 [Option ID = 248]
3. 3 [Option ID = 247]
4, 4 [Option 1D = 248]

63)

Frafafiea 4 siftaear 6 fevam 2 -
(Ay IEa F Frelear = .
(By  Sftem o\ welEma w0y

(C) Y-y

(Dy g & vfa smeen

T feu e Rreedi # ¥ wd ww = Hifie -

(1) (&) IR (B (2 (A IO
(3)  (B) #R(C) 4) (C) 3 (D)

[Question ID = 63][Question Description = Q63_Hindi_SH1_Set1_A]
1. 1 [Option 1D = 249)
2, 2 [Option ID = 250]
3. 3 [Option ID = 251]
4, 4 [Option ID = 2532]

64)

NREUFIET R EICE B

(4)  #fa s v T 8 I R R g Wy g 8, SalE wf 3 9 g e 2
(By 9 F=R FY I - 7

(©) A 3N el 2R et 2R, o B o g 8l R

(Dy  ¥n FHa| Fer T8, w8 s o ])

e feu T faredl 9§ W@ I 1 =99 i -
(1) (B 30 ) (A) 3 (©)
(3 (A IR®B) @ (B 3 (D)

[Question ID = 64][Question Description = Q64_Hindi_SH1_Set1_A]
1. 1 [Option ID = 253]
2. 2 [Qption 1D = 254]
3. 3 [Option ID = 255]
4, 4 [Option 1D = 256]

65}

e fhe % oran ieen’ siaa ¥ gefia ol 9 B a 27

(Ay  Sliee i w3 UIE Hhi GEicAehaT H 5 IR o S T Rl SAteet HI U w6

2
(B) ‘uiEdd W ek ¥ o= o 9= e o 2
(C) oW HEi-hal Fehd i aeHH T  gra Giaed = S SR B T R T )
(D) i IaTH F = W A5 9w 2

+= e m e 7 @ wd T T fiRm -

O A D) (2 (B) @k (C)
3 Q) IO 4 (B) = (D)

[Question ID = 65][Question Description = Q65_Hindi_SH1_Set1_A]
1. 1 [Qption 1D = 257]
2, 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

66)

-1 & 71y = -11 &1 fem $ifag -
-1 -1
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(A) el 2 (M gl e
(B) W2 Ha hie (D) T fay
() ¥ srgfy (1D wavRE fa
(D) S e T (IV) STeraon W3

4 few e Freedl 0 9 wd 3w w0 v ife -

(1  @-@O @B - IV). (O - D). D) - I
2  A-av. & - adn. (© - {dID. O — @O
(3)  Ar=dnD,. @ - dIV), (O - @O, (D) - {D)
() @A), (B - {Ih. () - @O. @) - {IV)
[Question ID = 66][Question Description = Q66_Hindi_SH1_Set1_A]
1. 1 [Option ID = 261]
2. 2 [Qption ID = 262]

3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

67)
-1 % vy g -1 @ faerm Hife -

-1 11
4 ferg I (0
(B) iffiet g Faa (I =i
(C) e 9 am fefere
(D) warn fia (IV) ¥l
) feu nu fammdi 3 & odt 3w % = Aifw -

1y (@-d). B - (IV). (O — 1D, D) — @
2y (AQ-dD. B — @O (€ - aIV). D) - 1D
(3} Ay=dan, By — @, (£ — dvy @) - {1l
4y (A -dD. B - @, ©) - aIV). D) - @O
[Question ID = 67][Question Description = Q67_Hindi_SH1_Set1_A]
1. 1 [Qption 1D = 265]
2. 2 [Option 1D = 268]

3, 3 [Option ID = 267]
4, 4 [Optian ID = 268]

68)  w=ft-1 % iy wEh-11 et hif -

gefl-1 gHl-1I
(a) TerilT o wEm @ faEd
(B) ®Ea (Iny  Farerfara fax
(C) eTH e 2 (TIT) T Ui
(D} T (IV) WRdg gieas
49 feu o famedi # 9wt o v Fifse -

1 @-dD. B - IV} (O - @O. @O - {dn)
2y @&-O @& - d © - IV D) - D
3 @-an. ® - @ © - dAD. D) - aV)
4  @-av). B - O, (O - {IDh. (D) - {II)

[Question ID = 68][Question Description = Q68_Hindi_SH1_5et1_A]
1. 1 [Option ID = 249]
2. 2 [Option ID = 270]
3, 3 [Option 1D = 271]
4. 4 [Option 1D = 272]

)V g1 % -1 0 e i -

T=i-1 =i -11
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(& Tl @ 0 HI
(By wffe a1 37 wn (In)  fifos fae
(C) =W gTHd (IITy A gra
(D) 31 B 3retd IV gae fi
a3 fow e el ¥ 3wl Im A = i -

(L A&-O B - dh (O - {dID. (D) — V)
2) A=, @& -@O (© - av). D) - JII)
8  A-0V). B - In. (©) - @D, D) — @O
4  A-In B - IV). (O - D. (D) - a1
[Question ID = 69][Question Description = Q69_Hindi_SH1_5et1_A]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4, 4 [Qption 1D = 276]

70}

HqAI-1 % =9 gt -11 =1 faem $ife -

-1 T -1I
(A)  TAWET 30EM (1976
(B) Ui 1 HiGH In 1955
(Cy ey sifufem (111 1960
(D) T Fem (IV) 1963
et feu e foehedi § @ Tt IW & 994 Fifaw -

(1)  @-abh. By — (dID. (G — IV). D) — @D
2y W=, B - d), (© - dI). D) - {qV)
(3  A-n. ®& - IV). & - @. O — dp
4 (A-av. 6 - O. (€ - dbh. O - JI0)
[Question ID = 70][Question Description = QF0_Hindi_SH1_5et1_A]
1. 1 [Option ID = 277]
2. 2 [Qption ID = 78]

3. 3 [Qption ID = 275]
4. 4 [Option ID = 230]

71)
gt -1 % oy g -10 1 fiem Hhifo -

g=-1 gfl-11
&) =@ @ f e Em
(B) foraw g% If IHA
(C) HiTiid (IIT} wig=e H4 Feafer
(D) W e wikm @V fazd frdifhen—u o Tt

A= feu o faeredt § @ w3 w1 999 Fifdg -
(1) Ay —(ID). (B) — IV), (C) - {III). (D) — (D)
(2) A —-D. B - {dD. ©) - {IV). Dy - {II)
(3) (&) —(II), B - {0, ) = D, Oy = (IV)
[Question ID = 71][Question Description = Q7 1_Hindi_SH1_Set1_A]
1. 1 [Option 1D = 251]
2. 2 [Option ID = 282]

3. 3 [Option ID = 283]
4, 4 [Option ID = 284]

2} -1 % wny w11 o T ifag -

-1 g-11
(A) @R @ T EE
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(B) fima 7w (D) ZI-H4
(C) TFIaEsA (IID) 3% &7 o
(D) s (IV) WTOT9E &) ATcHehel
Fi= feu v el U O W I W 999 it -
(1) Ay—(In, (B — @O, (G — (IV). (D) — {IID)
(2) Ay—m (B = dh. (© - dID. (D) — {IV)
(3) (A=), B - {IV) ) - . (D) - @D
(4) {(Ay=(Iv). (B) — {IID. (C) - (). (D) — {ID)
[Question ID = 72][Question Description = Q72_Hindi_SH1_Set1_A]
1. 1 [Qption 1D = 235]
2, 2 [Option ID = 286)
3, 3 [Option ID = 287]
4. 4 [Option ID = 288]
73)

-1+ T g -1 1 e $iig, -

gHi-1 gefi-1I
(4)  gfera Sfam (M &
(B) Uik 91y (I} HH ¥ &9
(C) e I9=mE (III) TRER : U e
(D) ST e (V) ol & T S
= fon o el 1 A T W= === Hif -
(1 A0 B - I O - (I, D) — {IV)
2y  A-avy. B - O (& - dbh. D) - 3D
= @A-dn. (B - {dIh. (C - V). D) — D
4 A& -dn. B - IV), (O - D O - dh

[Question ID = 73][Question Description = Q73_Hindi_SH1_Set1_A]
1, 1 [Option 1D = 289]
2, 2 [Option ID = 290]
3. 3 [Option ID = 291]
4, 4 [Option ID = 292]

74)

(A)

(B)

T -1 % 19 g=it-10 1 firam ifan -

gHl-1 Fi-11
firem & vA Fae -9, faE & % (  Tavem
S

07 T A R ¥ Fe mW R R dD  wiente

(C) T8y A fdimm w @y 7w A HE (I FERE
el Bl il il reic e e o b e v

(D) 39w 92 g4 @ o1 | (Tv) afterd
T2 T Tfg FeR-a1a 9l

Ird few e foedi B © wEI o 599 Fifg -

1  A&-0V), @ - d. () - dn, D) - @D

2 @A@-O @ - dIn, (© - I, Oy - Iv)

3 A=, ® - IV), (C) - I, (D) - @O

49 @A-0n @ -@O (© - avm. O - Jn

[Question ID = 74][Question Description = Q74_Hindi_SH1_Set1_A]
1. 1 [Option ID = 293]
2. 2 [Option 1D = 294]
3. 3 [Option ID = 295]
4. 4 [Qption 1D = 296]

75}

gt -1 6 Ty g -1 1 e Sifag -

g=fi-1 -1
(A)  gR Al (y afm
(B TiEaay (T TorAmmhn
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(C) W TR (D) #a
(D) S vy firadera
Hr4 feu 7o foaedl © 9 wERR w9 Fifs -

(1) Ay —(ID. (B) — {dI). ) - O, @O — {IV)
(2) A)—dn, B — O, () — dV). Dy — (1)
(5  @-Iv), ®& - {dIb, (©) - dh. D) — DO

(4 A —-M B - IV), (G — (I}, (D) — {ID)

[Question ID = 75][Question Description = Q75_Hindi_SH1_Set1_A]
1. 1 [Option ID = 297]
2. 2 [Option 1D = 298]
3. 3 [Qption 1D = 299]
4, 4 [Option 1D = 300]

76)
FHHIA & AER FrefafEa Had #1698 a0Ee 8 -

(A) T TG VEA CEE

(By s qraw

(©y e B

(Dy  senenfag Ine gRefy’

1 feu o fereredi o @ wEIW W == 9T -

(L (B, D) (A). (G (2) (D). (B). (C). &)
(3 (C). &), (B), (D) 4y (A B (C. D)

[Question ID = 76][Question Description = Q76_Hindi_SH1_Set1_A]
1. 1 [Qption 1D = 301]
2. 2 [Option ID = 302]
3. 3 [Qption 1D = 203]
4, 4 [Option ID = 304]

77)
TiEA ThY % HEF HHE 61 WA o ¥ SIHR Wl S 2 -

(A)  RIEG W1 SWHE

(B) 73 =wgw

(C) v 3N Frefi

(D) SE ST S

+= feu T foreredt @ ® W TR T A AT -

(1) (A), (C). (B). (D) 2y (B). (D). (C). (&)
(3) (C). (B). (D). (&) {4y (D), (C), (A), (B)

[Question [D = 77][Question Description = Q77_Hindi_SH1_Set1_A]
1. 1 [Option ID = 305]
2. Z [Option ID = 306)
3. 3 [Option ID = 207]
4, 4 [Option ID = 308]

78)

TeRTeFEs % En Frefafias seadl & ud ogEn @ -
(A) vt us e

(B) @Y

(C)  =wrag H FEwHY

@) e e

A feu e freedi O @ wdi 3w w1 e gl -

1 (B, O D) @ (2) (A B ©). D)
3 (). D). (&) (B) 4 (A (©). D). B

[Question ID = 78][Question Description = Q78 _Hindi_SH1_5et1_A]
1. 1 [Option ID = 309]
2. 2 [Qption 1D = 310]
3. 3 [Option ID = 311]
4, 4 [Qption 1D = 312]

79
g N i & SUN—E U gon—

(A)  WRA I T e
B) w3 e g wHe
(C) 9= IR I P
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(1L HRdq g1 AT Tgcl M1 = T4 YNl

4 feu e fowedi ¥ WA I = = g -
() (D). B. ), A (2 4. B D). ©
3y (O A (D). (B 4 (A). ©. B). @O

[Question ID = 79][Question Description = Q7F%_Hindi_SH1_5et1_A]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Qption 1D = 316]

80)
WeRTEH 99 % R Feafaliga soam & w6 aaEn g -
(4)  AHE g4
(B Hoi-4H
(Cy 1M el
(D T
4 feu o el 4 8@ whawm % 9 gie -
(1) {B). (C). (&). D) {2} (A, (B). (©). (D}
(3) (C). (A), (D), (B) {4y (D). ). B). (O

[Question D = 80][Question Description = QB0_Hindi_SH1_Set1_A]
1. 1 [Option ID = 317]
2. 2 [Qption 1D = 318]
3. 3 [Qption 1D = 219]
4, 4 [Qption 1D = 320]

81
R Oy v S T ga—

(A)  OeIEEiEEY %1 e
o= R - - B A || P A

(©) =R

(D) T mfeea & i

H feu o fomredt A wé I w1 A g -

(1) @&, D). B). ©) {2y @), (&), D), (O
(3 (€. EB). A D (4) D) (), B (A

[Quastion [D = 81][Question Description = Q81_Hindi_SH1_Set1_A]
1. 1 [Option ID = 321]
1. 2 [Option ID = 322]
3. 3 [Qption ID = 323]
4, 4 [Option ID = 324]

2 e 78 % s e B T v e -
(A)  wfeoen & forg
(B) 3Tl W
(C)  =heiH g

(D) WA HEF & S

= fou 7o fommedt 1 © =t I = =94 g -
(L  {A) {(C) (B). (D) (2) (D). (B). (C). (&)
(3 (B (C). (D), (&) (4 (C) (B) (A). M)

[Question ID = 82][Question Description = Q82_Hindi_SH1_Set1_A]
1. 1 [Qption 1D = 325]
2, 2 [Option ID = 326]
3. 3 [Option ID = 327]
4, 4 [Option ID = 328]

=) HIAl Y418 7 & 3Er fafafan = fad wm f sofa % s adl -
(&)  YREAR
(B)  FIFH 3UEN
() e =)
(D) @A 7=
i fer o formedl W A wf IR F 9 gRY -
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r=r B LR L R il LR Ll 4 w—r Ne—g3 W mgn wmogpR amomy

3y (G D). (A). (B {4 (D). . B). (G

[Question ID = 83][Question Description = Q83_Hindi_SH1_5et1_A]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4, 4 [Qption 1D = 332)

= gqAi-1 e g1 -1 1 faem Hifg -
-1 gHi-11
@& v 9w < om M  Hem

wEH-4g Hifek S @ gy 4 g F
(By wefy fam wm &, s A #rmwm (1D wliem
afg A = yieE 6, Wi Fi gmn)

(C) YT 9 i ATl (IITy Hi
el Fod A Hehel A1 AL Z2h| |

(Dy TR A bift vEw gfea gha arew o) V) gerfem
Hifs e sifd g <fufz Hifa B ae=n

1 fee e frmedi ¥ B et W o Hifte -

(1} Ay -{1n., (B) - @O (O - av). by - (IIL)
(2) (Ay— (). B\ — {dD), ©) — Iv)y D) — D
(3) Ay—@. (B - D). (C) — {III). (D) — IV}
(4} Ay —(avy. (B — @ (G - {ID. D) — dI)

[Question ID = 84][Question Description = Q84_Hindi_SH1_Set1_A]

1. 1 [Qption 1D = 233]

2. 2 [Option 1D = 334]

3. 3 [Option ID = 335]

4. 4 [Option ID = 338]

83} fyfafian 9ot = s 1 seiem Hi

r

(A)  reEwE

By  sitfac e

(C) FEeFER gEgh

D) e AR

4 fem o freedi § ¥ w@ TR T 9fe -

1 A, By (C). D) 2) @), ©). D), B}
3 (. &) B O 4 D). B). Q). ©

[Question ID = B5][Question Description = Q85_Hindi_SH1_Set1_A]
1. 1 [Option 1D = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4, 4 [Option 1D = 340]

- 86 5 ; ;
} = g Fe fem M E : U AN (Assertion A) * &9 1 fafla 8 @1 99U I6F HRW (Reason R)

%E':lﬁ:
ANERYA A Tfom et =1 <eies N9 91E OEE ARE 51 99F 2

HFAN R Hifd A= 299 W AF efaq-fams faam =2 g 2|

I9UF FUA % s o, N oo mo fawedl § 9 wd v @ wem i -

(1) A SRRZA a2 3R, A F 9 =& 2|
(2) A SWRIFA o 2, 9 R A 91 o wmen w8 2
3y A" R @fsT R w2
(4y A3 R, ofea Rusa 2
[Question ID = 86][Question Description = Q86_Hindi_SH1_Set1_A]
1. 1 [Qption 1D = 341]
2. 2 [Option 1D = 342]

3. 3 [Option ID = 343)
4. 4 [Option ID = 344]
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Ald Gl b ICY 1Y & 1 Ush SHidhEd (Assertion A) b ¥4 Y ielidd § dl gl JHdh Y {Keason K)

HEIY :

SAET A ; 30w TrEE o w1 FRg s 2

FHOR  : wWifE 98 v SfE-fen w e aw@ 2@ 2)
T FY F e 1, 9 oo Feewi O @ afiem 1 959 fifye -

(1) A 3NRZA 59 3 3K R. A ¥ w8 =en 21

() A RREH w €, afE R A $ wdl sren T B
(3) A wg 2, @i R awe i

(4) A 3w 2, 9 R we I

[Question ID = 37][Question Description = Q87_Hindi_SH1_Set1_A]
1. 1 [Option 1D = 345]
1. 2 [Option ID = 246]
3. 3 [Option 1D = 347)
4. 4 [Option ID = 348]

88}

= g wu fom o d - AR (Assertion A) % w9 ¥ foifaa 2 91 ¢80 3% ®W9 (Reason R)
FFIY ;

SR A : ATEH T TH FGEYT SHINCY 3

HEO R ; Ik AEh 1 39y = e FE 3R aw 79 8 Gl 2

I HeA & A 1, = fey o famedi § # =d T = =39 Sifdo -
(1) A SRR TE U™ 2 3R, A F 9 == 2

2) A SRR A v, °f 1 R, A i 7d =men = 2

(3) AT R, dfFI R 393 B

(4) A 3 2, 9 R 9 2

[Question ID = BE][Question Description = Q88_Hindi_SH1_Set1_A]
1. 1 [Option 1D = 349)
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4, 4 [Option ID = 332]

89)

A= @ F9 u T 8 v AUEEA (Assertion A) % &9 3 fafag 8 91 gAU IHE% FRW (Reason R)
FEY

sty A ;- U wH O e i w1 i 16 20

FIUR  : H©bifs diea i sAfieafd 51 g § 296 21

IH HF & e 1, T4 o e el § A ufIm W w9 SR -
() A 3R gHi v § st R A ) wdl srEm 3

(2) A INR I 99 2, i R, A & 98t = 18 2

(3) A¥AZ, A R 35 2

(4) A FES R, A R T 2|

[Question ID = 89][Question Description = Q89_Hindi_SH1_5et1_A]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3, 3 [Option ID = 335]
4. 4 [Option 1D = 358]

20}

4 @ ym e ae § ;v AU (Assertion A) % 9 ¥ fafga 3 at I Tk HHU (Reason R)
FEIH ;

HeReA A ; Tl -Tawsl ot sifemn 1 Tae[ w6 21

R wifs 98 S Al w1 v G 2|

39 He & s 3, Ji= fin e et o | wft 3w o wm fifsw -

(1) A 3R g 99 2 3t R. A = wdt =9 2|
(2) A SR 2F 94 4, o7 B, A 1 9 e 76 2

(3) Aw™ R, @fe R e 2
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(4) A 3 g, wfEa R e 2

[Question ID = 20][Question Description = Q90_Hindi_SH1_Set1_A]

1
2
3
4

+ 1 [Option ID = 357]
. 2 [Option ID = 358]
3 [Qption I = 359]
. 4 [Qption ID = 260]
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Topic:- Hindi_S5H1_Set1_B

D fiiw  Frefla s 1 s uiew st R 1 s Ty T e | 3 g

qupes @ AAeAeE A Tor R aities we-mmm ) fetven 3 st wer atfies e A o) e
T TR TH: A Sg g A faan-fien ot 9% # it 31 5 veR T we off o man
AN T Bl A1 R, T AT 9 A H GAETS @9 el Teudl| 9 0 0 gH-SEN % w1 WE-TEn S
ST WAl TN 3| AT Wi, ST T, SO Ui, o SEEmEE T W 6 #R e
T Un B W B TR 365 T § o T 2| T I A B8 W A TaraR] W A6l 9edl, TE-ae a7
i -Tereedl 1 war =t W d et 31 79 H Ao dE i J9 aee B ) S % wmEg 99 &
Tz 7 A oA el vem 2, | AT wm-nedt, FE-w o W-veen 0 sl T TR Ty T 2L W

EEI-THR, H WF-H $159 ¢ F0d! S0er O 2O Siaq o U 41 Sfiad 20 9w 2l

TR SR SR 9 BT YT W 27

(1)
(2)
(3)
(4)

6T YR % Hem ¥ 9 H1 FEFHe Fl 2
F1eATd WA # Sffen | el e w1 wgene T g R
HEATd A § gy SR 9gd 9 Al 2l

HrEATE WA g w ars o A Jwd 2

[Question ID = 91][Question Description = Q91_Hindi_SH1_Set1_B]

1
2
3
4

. 1 [Option ID = 361]
. 2 [Option ID = 362]
3 [Option ID = 363]
. 4 [Option ID = 364]

D) fdw ; Freffes sacw w1 emEE TRk ok T R Rt § F 3f

1
2
3
4

qupes ® Heaed A e wer st wr-wan o e 2 st wen st e £ off) agen
T TR TH: A FE g A faan - ot 9% # et 31 3 vaR o we off o e
ATl T Bl W 3, TR A7 9 6 B GaEae 99 el dgudl| WA H g -S4 i WeE-men o
SER: wEel Tl 2| 9T Ui, ot TEiEn, ST USihEl, o1 RwmerdEn o v uE ik mivems @
T I HEH W F TR S @ § o W 2| TS A 590 Wl E Taeard T e wedt, TE-oe 3
- Toreet! =1 war Ar WO =gd 21 T Ae s@a 0 3 T aae A 2| set W g seien b
1z § & e e s 2, W AT Tg-ndlt, Te-m ol Womeen ¥ of Ol e me T 2 =

EEI-TOR, H WF-H $59 ¢ ! S0er O 50 Si|q o v T4 Sfiad o0 9w 2l

i A % aneR 9 Pratefaa 3 we-un s wd T 2
(h e < Ereifa el et & enes 2

2 = B dreaigfa v sty @ sd-sd R

(3) T W3-~ Heeh il g aren 25 wofi 2

@  uge f deeaipyfa wofw 3)

[Question ID = 92][Question Description = Q92_Hindi_SH1_%et1_B]

2o
|

Option ID = 265]
Option 1D = 356]

. 3 [Option ID = 367]
. 4 [Option ID = 368]

3 frdw : Frefafes s w1 emds wRew ok s R St § F 9f)

T ¥ e 4 B weR wAaw ar-man i B 2 st v artee e 7 o) Teen

9 UEE WE: SO W8 st @ e fuee ot @ 9 el 21 s wee e wiy ot e wae
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L B bl I E P I S I B W 2 VR i B s I o s e Fef L s RS T o B ) 2 | R = D B 2 S | S|
N SEAl T 2| ST Ui, I TEieEl, 3T TSI, A9 SeeniEt #u oae O SR Wi O
o YN W TR SEF weg U a9 R 3w o wnl oo = f e © 98 wedl, Tm-te o
el ot 1 war At W ot wedl 31w 9 g fi S99 9 Wi wid 81 Set B A S
Uz # & dind e Tsa 2 e w-matt, wer-wn oilt tn-ve # off Hiwd o T B 21 54

ToH—TOR F WEH-T0 F158 2 g S9e O 2090 Siaq § e T Ssfae a1 S 2

ITER HEA F SNUR WA 8 wh-w w5 vl 80

(1)

(2)

(3)

(4)

A A0 THITE oiiaa § 99 § 95 2
T 39 AHA-TERE W 99 8 9 21
s 1 WE-gEE 9y sy | Hifa 3

WS 1 U S g9 91 § Ay o R

[Question ID = 23][Guestion Description = Q93_Hindi_SH1_Set1_B]
1. 1 [Option 1D = 369)
2. 2 [Option ID = 370]
3, 3 [Option ID = 371]
4. 4 [Option 1D = 372]

4)

e« FrerieThiga sfaeon =i e Tis 39 TR R S To Y feRedt @ g

qupes ® Heaed A o wer st s o e 2 st wen sttt e A o) aegen
T TR TH: o FE g A faen-fian gt 9% # et 31 5 veR e wie off o man
A T B AT 3, T A7 93] AT F FAETel 99 Tel deudl| U 0T 0 §H-SAR & w9 9E-gen
SR Wl T 3| 7O ulie, ot TR, ST OSieEl, 1O mendEn o v uE ik mivem @
T YF B OB E IS 553 0 91 B 2| s ol 79es = f veranl W 96 wed, -t o
- Toreet! =1 war AR WO TgE 21 T Ae sEa 0 3 T aee w2 set W g seien b
Hz # & e e Tz 2, W AT Tg-ndlt, Te-T ol Women ¥ o gl R me T 21 =

EEI-TOR H WRF-%H $159 ¢ 0! S0er O 20 Siaq o U 41 Sfiad 20 9w 2l

I saaol % de A Prafafian § A BH-w v wd 7@ 20

() wgs F wiE HY-WY 3w wan 9 & 9 g 2

(2) 9, TIEE e § g w2

(8) vyl w1 Y9 19 weal SR Aok o ufd g 21

(4) TN w1 YW IS % TH § Hiftm g 2

[Question ID = 94][Question Description = Q94_Hindi_SH1_%et1_B]
1. 1 [Qption 1D = 273]
2, 2 [Option ID = 374)
3. 3 [Option ID = 375]
4, 4 [Option ID = 376]

3)

e« FrerieThiga sfaeon =i e Tis 39 TR R S To Y feRedt @ g

qgped ® Heaed A o wer st s o e 2 st wen sttt e A o) aegen
T R TH: A9 FE g A faan-fien ot 9% #3155 veR o we off o man
Al T B AT 3, T A7 93] AT F ATl 99 Tel Teudl| U 0T 0 §H-SAR & w9 WE-gen
SEA: Wl T 3| T Ui, ot TR, ST USieE, T mentdEn o v uw ik mivem @
T YF B OB E IS 553 0 91 B 2| s H il m9es = f e W a6 wed, -t o
- Toreet! =1 war AR WO TgE 21 Ty Ae sEa 0 3 T aee wid 2| set W g seien
Hz # & o e Tz 2, W AT Tg-ndlt, Te-T ol Women ¥ of gl R mu T 2 =

EEI-TOR H WRF-%H F159 ¢ 0! S0er O 20 Si|q o U 41 S| 20 9w 2l

e FEaw & wey 1 frafafas 1 8 - s w22
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(1

{2

) TSE < i 3R e U9 § Afuw s 9@

Y OIS % I 3T B U ook wifhe 2

(3) oA % Wiy iR e ueftond @ S E

() T W Fy G oys s e S0 T W Ee 2

[Question ID = 95][Question Description = Q95_Hindi_SH1_%et1_B]
1. 1 [Qption 1D = 277]
2, 2 [Option ID = 378]
3. 3 [Option ID = 379)
4, 4 [Option 1D = 380]
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Topic:- Hindi_5H1_Set1_C

1)

Frdw . Fafafn s =t ey ufed ok WA =1 o fog e et @ gfiw

TR WO AR, STiHER e o TEER 3aw 21 7R oW 0 s 9 A 7 oE ww
3 Tt £ S 3 21 7 w2 b affRfe e i 31w 1 2w § oit e o wm o wma
wg T 3, W A T wgd wiaw T aeell 2| widE e oo oft et & = F T\
‘T % T 4 G 2, 98 TR e SR Wd 3 98 W % 9 W e O W s
HRA| HTH-3TT WS- % G AT EA1 AGA FAN WEH Rl wgl wn feeiwen 21 8 v A =@
e R S TS 5O WA 2, o 99 2T O R, 309 0 NWe F Tl WH 1 TrE U9 90F 9rsAE A
& a1l W s NG T gaAR WA S wsT w1 e 8 e wedi| wig # tan o 9@ e

TFA 7 79 STEE & 79 A TR T o7 9 T T

Iydan svad % angr W Feafefe 3§ | h-m wem vl 27

(1)
(2)

(3)
{4)

e R ERES |

et =1 3 el = e

O Bl 39 I T T
9 B 3T IETEA § O WA

[Question ID = 96][Guestion Description = Q96_Hindi_SH1_Set1_(]
1. 1 [Option ID = 381]
2. 2 [Qption 1D = 352)
3. 3 [Option ID = 353]
4. 4 [Option ID = 384]

2)

Frw ; Frefeiga stee i eargees uied oftt 9 = e fog e foreedi @ giw)

TR T A, STOiUER HIE o TEER 355a@ 2] R W9 1 1 7 oW 30 v T e
1 g F S & 21 97 w2 e ofiufet aae it #1 s = @ E it sergEl o off g
wg T 3, W TR ugd AUE T ane 4| IedE T oo o st s’ & = A 7 A
‘e % =0 § g 2, 92 TR dee geen w1 v §) 9w W % 9 = awrh @ ol s
HRAT| -3 WS- H G SPUET EA1 AU FAN WEH ki wgl wR fewiwan 21 8 v | w8
T TR T TS 5O W 2, A 99 2T O R, 904 0 WWE A 1 WH H TrE U9 90F 9i8AE Al
T a1l Wowed NG W gAn A Seian wsT 1 ee 8 e wewdi) wig # tan o a8 e

TFAl T 70 STEE % 79 A TR T 970 9 T

3qdam e & A W Frafafea 3 3 wh-m Hen s 21

(1
(2)
(3)
(4

T 3AHAT % T ° HiEd % NI
7ardi e wigmnf 2
g Fnuiyen 7gd g% 8

AT TR 30 e 2l

[Question ID = 97][Guestion Description = Q97_Hindi_SH1_Set1_{]
1. 1 [Option 1D = 335)
2, 2 [Option ID = 386]
3. 3 [Option ID = 387]
4, 4 [Option ID = 383]
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3)

Frwr ;. Fetloilin St =1 SIFTeRh Ui ST 999 R s fou 7 foeeeat ¥ e

FAR! S AiEHTEEl, FOER e St Geen Svees 2 R I A W F 9h 7R o e o
T I i WO S &) 9 e © T ufieuRmt see e 21 ST g 2 € ol seEe 6w of s
&% T 2, T 9 GUET g5 Al 76l Soell 3 widE e S e ot e’ % w1 8 7 e
‘et W w9 A WG E, 98 SRR Sl @een W 6 2] 98 T % sud @ T | 98 o
T AT - T AE-T F G T e 5 BAE TN A wdl ud e 21 # v A
FEl T & 59 590 GO 2, S 59 SO 9 1, 55E 5 e 8 w1 g A A @9 99 gt g
& STl W w= A NG W g THarl Seien " w1 S 8 w9 wehdi| wg § van | @ wie

TFA 7 59 SFETEE % 79 A TR BT 270 O T

I ST 6 3N W i -H1 HH T S5 &1

(1}

(2}

(3)

(4)

A 1 Hig g i 2
A %l FEwEs amn = =i
T i g ey el 21

e foge g dae 2

[Question ID = 98 ][ Question Description = Q98_Hindi_SH1_Set1_C]
1. 1 [Qption 1D = 385]
Z. 2 [Option ID = 390]
3. 3 [Option 1D = 391)
4, 4 [Option ID = 391)

4)

Frw . Tl s =t e e ok A = s fon e et @ ghw)

T WO R, STufiEER Be oft TEER Ieaw 21 Za oFere A off 3 9 o T
1 g F S It 21 47 w2 e it aoe it #1 s = A ot seren o off sz
wg T 3, W AT T wgd wiaw T aeedl 2| Wi fEe oo ft et & e F T |
‘T % = 6 A 2, 97 7R e SRR P £ 9% W b S B EE 6 s
HRAT| -3 WS- % G AT EA1 A6 FAI WEH i wgl Wi femiwen 21 8 v A =@
e R T TS 5O W 2, A 99 2T O 7, 909 30 WWE F Tl WH 1 TrE U9 9OF 98- Al
& a1l W s NG W gAn WAl SeRE w1 oey 8 e wedi) wig # tan o 98 e

TFA T 70 STEE & 79 A TR R ST 9 T

Irfas srEa % anun w Feafafien § F wh- wem wd 2y

(1)

(2)

(3)

(4)

T A T WA WiEE HE )
2 st wion 6 agi-ne e 1 de © Regsro e afiin
T FEIR & W9 A g Sl W W T W IR & |

T FIEF & Traee 70 o won ff e 5IEl 1 S T =gy

[Questian ID = 99][Question Description = Q99_Hindi_SH1_Set1_{]
1. 1 [Qption 1D = 293]
2, 2 [Option ID = 394)
3. 3 [Option ID = 395)
4, 4 [Option ID = 396]

3)

Fitw : Pt seem i e v ot wa . e fon e femeeai § ghwg

TN o AfgATEEl, IeuiieER e st @wen svwEs 31 gaR aFem A o 3 9| 7R uw T o
T O WO S &) 9 e § e ofieuRm see e £ ST g 8 € ol 3@ 6 wmn oft s
w% T &, W AW T g Alw TE aeel 31 widE e S e ot emdiAe % = ¥ F "
‘i’ % W A W E, 98 TR e e B 81 98 T % SuA B e | 98 s
TFAl -3 WA -39 R S 5N SR FAN TR ) 92 ot e €1 vm W@ e
T T S $ 7 9O 7, S P 5E Y B, 394 59 e € 6 wH w1 AR’ O a9 9w w6
= S m met o e T e Tederel Siefen’ mer e arent o w e w § o oft o o
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3 . -

TFA 7 79 SFEE % 79 A TR T 270 O T

Fofe srraon % snur W Fasfefiaa 3 3 - wum v wd 2

(1}

(2)

(3}

(4)

WA FHEG HEE 9C TS A

wftfifi wem w2

I9F 74 B T B

IerRAl 1 T 98 T 2

[Question ID = 100][Question Description = Q100_Hindi_SH1_5et1_C]
1. 1 [Option ID = 397]
2. 2 [Qption 1D = 398]
3. 3 [Qption 1D = 299)
4, 4 [Option ID = 400)

Topic:- GP10_D2_SH1_SET2_A

1) Study the given table carefully and answer the guestion that follow

In the given table, students enreliment for five different courses in B different years are given.

Mate: The number in the brackets give the maximum number of seats in sach course,

Courses
BTech (&60) | MCA (60)| MTech (30) | MPRil {20} | Integrated MTech {30
20186 45 52 5 16 26
2017 35 56 6 18 24
2018 48 43 1 14 25
09 53 40 23 15 i3
2020 50 46 28 13 i7

riifra 1 srasail ooy aieeenr $Rnr aiie oid B e gra o 3w SR

iRt mforen # 5 B ol # obg (e ammasat # amofv B2kt or Reew e o &

feavdt ; afwset # e wuem gty anvmas 9t aleeom IR enbd ¥

DR
ad |4 2w (60) | waite (60) | wrims (30) | eafiser (20) | =R qwias (30)
2016| 45 52 25 16 26
2017| 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 e 8 12 i7

I which year, was thers the highest student enrollment?

fepas ad & siffranos Rl smaieos s g ?

[Question ID = 1951][Question Description = 52_gSMz_PG_GP10_Q01]

1. 2019

[Option ID = 7801]

2. 17

[Option 1D = 7302]

3. 2020

[Option |D = 7803]

4, 2016

[Option ID = 7804]

2) Study the given table carefully and answer the question that follow

In the given table, students enrcllment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses
BTeach MCA MTech MPhil Integrated MTech
(60) (60} {30) (20) (20)
2015 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
20149 53 40 23 15 23
2020 50 46 28 13 27
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T wr Attt grke s it s o R o gre o g dfs

Breaitiimr aften # 5 Biee ool & o Bea aooersal # soaiftiss Reoi o Reeor R ora &
feoaufl @ wreset 3 gea Fwar grires rcersn o affesmor S safl &
TR

ad kit 2 (60 )wrdite. (60w (30)mita {20)|=afea wem (30)
2016 45 52 25 16 26
2017 &5 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

What is the difference between average vacant seats in BTech and average vacant seats in MTech during 2016-20.

2016 - 20 o5 giwm 4. 2o ¥ sivaa fes 1€ Jiy owdes 3 sdran Pvs Wil O elter aine fevnoy 8 ?

[Question ID = 1952][Questicn Description = 52_gSNz_PG_GP10_Q02]
1. 4.2

[Option |0 = 7505)
1. 4.3

[Option 1D = 7506)
3, 4.4

[Option 1D = 7807)
4, 4,1

[Option |0 = 7508)

3) Study the given table carefully and answer the questien that follow
In the given table, students enrgllment for five different courses in 5 different years are given.

Mote: The number in the brackets give the maximum number of s2ats in each course.

Courses
BTech MCA MTech MPhil Integrated MTech
(60} (50} {30]) (20} (30}
2016 45 52 25 16 26
2017 55 56 26 ig 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 a6 25 13 27

et Wl Aot ek artrTar dhtfery afie ofikl e =10 geq w1 ane difem |

Rrraferiaa arferst 3 5 Gieer wat 3 oiw e ogerrgt # ooaifsa Renfkit ar Reeor R e 2
Fooeft © aeicost 3 go Je=n geien urgee B aftemas FhE ookl £
R

anet Fﬁ.zm{ﬁn}hwmu, (60mes (30)mfsa {20)|afon miw (30)

2016 45 52 25 16 26

2017 55 56 26 18 24

2018 48 43 21 14 25

2019 532 40 22 15 23

20200 50 46 28 13 27

Which year has highest number of vacant seats?
o o 3 Trep 2Hic &t siwen o ¥ 7

[Question ID = 1953][Question Description = $2_qgSNz_PG_GP10_Q03]
1. 2019

[Cption D = 7809]
2, 2020

[Cption [0 = 7810]
3. 2018

[Cption D = 7811]
4, 2017

[Cption D = 7812)

4) Study the given table carefully and answer the questicon that follow
In the given table, students enrcllment for five different courses in 5 different years are given.

Mote: The number in the brackets give the maximum number of seats in each course.

Courses
BTech MCA MTech MPhil Integrated MTech
(60) (60} (30) (20} (30)
2015 45 52 25 16 26
2017 55 56 26 18 23
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ZD1H 45 a3 21 14 5
2019 53 40 23 15 23
2020 50 45 28 13 27

R T AFens Yok sreRma Gt Jfiz o e =1 gea &1 o €
rrafefion mtre & 5 fiem ol 3 o Brea dgeragat & siikea ReofRE o faaeor 2o =ro 2
Roooft : wicemt 3 gow Heem grds g Bt afteroa i onld §

Ui
ad [l Boy (60 enalte (60 mmde (30 uafba (20))wifog vader (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 432 21 14 25
2019 53 40 23 15 23
20200 50 46 28 13 27

Which course has minimum number of total vacant seats during 2016 to 20207
2016 31 2020 = gizer Foa wied ® o P A9 O S syeran @ ?

[Question ID = 1954][Question Description = 52_qgSMz_PG_GP10_0Q04]
1. B.Tech/uiiar

[Option |D = 7813]
2. MCASwaraiie

[Option |0 = 7814)]
3. M.Techimrxe

[Optien D = 7815]
4, M.Phil fom e

[Optien ID = 7816]

5) Study the given table carefully and answer the guestion that fallow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses
BTeach MCA MTech MPhil Integrated MTech
(60) (60} {30) (20} (30)
2016 45 52 25 16 26G
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

mferest @ wvaensil gdes s Hile iy @k foo se gea o1 gz b
Frsmfoifion mfocs 3 5 fiem gl & o Biea aceasl 3 soaifis ReofRi o far R wra 3
fecooft @ esreses] & gea deay grdtes areeeeH B e JE sokh §

T
ad kit 27 (60 )mrdite. (60w (30) it {20)|aafea wem (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
z020] 50 46 28 13 27

What is the difference between average enrollment in 2016 and average enrollment in 20177
e Hdimaamraa 2017 Ao s da wr g o & 7

[Question ID = 1955][Questicn Description = 52_qSMz_PG_GP10_QO0S5]
1, 3.0

[Option ID = 7817]
3.0

[Option ID = 7818]
3, 3.4

[Option ID = 7819]
4. 3.2

[Option 1D = 7820]

Topic:- GP10_D2?_SH1_SETZ_B

1) Who among the fellowing is the national coordinater for engineering courses to be launched on SWAYAM platform?

T wiew 07 ARW g Sel ae oRRERGAl T IR JeeRE Wi £ 7
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[Question ID = 1956][Question Description = $2_qSNz_PG_GP10_Q06]
1. AICTE/ v anf 3 & £

[Cption D = 7821]
2, MCERT/em =i § o &1

[Cption D = 7822]
3. MPTEL/wer dt 2 § w1

[Cption D = 7823]
4. UGC =it

[Cption D = 7824]

prepp
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2) What is the name of the software application that facilitates building an early accessible bookmark warehouse that becomes searchable to members or

the public?

3% FATCARTE HgIgRIeT 75T T oTHT & Sl JPTd Ui aie QEinRiee-1usTEge o 3 @eren # 3 5 ol e Fe oiel 1T T Wow Wt @R & 7

[Question ID = 1957][Question Description = 52_qSMz_PG_GP10_0Q07]
1. Sorcial Bookmarking/ smafiey gemstres

[Cption |0 = 7825)
2. Database Management System faremk yismn gomi

[Cption |0 = 7826]
3. Enterprise Resource Planning/sos ziawm fBrabeg

[Cption |0 = 7827)
4. Reference Management Tool! sl quiser agasm

[Opticn D = 7828]

3) Given below are two statements

Statement I: Reliability refers to whether a test measures what it says it measures.
Statement II: Validity refers to whether a test consistently yields the same or similar scores.

In light of the above statements, choose the most appropriate answer from the options given below

s St o Rwsm & ¢

e - [ ! Rrrowefiern oo sidhe 5 iz B oo o aflern aw At o #rge mwn § 9 aE o § B ar e
averat - |1 2 Fierm o1 Fimer 549 aiw & B wen o oftsmon geent wu d afl @ s TR S
PG eeerdl O aowies &, SiRr fov wre fosedl # & wed vogEr Yot o aver Sl

[Question ID = 1958][Questicn Description = 52_gSNz_PG_GP10_Q08]
1. Both Statement | and Statement || are correct/mrem | R |1 S et &

[Cption I = 7829]
2. Both Statement | and Statement |1 are incorrect/memt | & 1| St sewr &

[Cption D = 7830]
3. Statement | is correct but Statement || is incorrect/Tvem | = 8, ey dem | = &

[Option 1D = 7531]
4. Statement I is incorrect but Statement |1 is correct/vem | owr &, foeg wem 1) w6 &

[Option |0 = 7832)

4) Metacogniticn comprises which of the fellowing skills?
A. Planning

B. Developing

. Monitoring

D. Costing

E. Evaluation

Choose the correct answer from the options given below:
TrafeiRoa 3 3 wio - @ite 31 @iters aftrsme o ool & 7

A, foritaar avean

B, fErora wen

C. of¥igmor wen

D. @ Gredror wwen

E. Frrimer oo

giier fom =ry fredl # 3 =t o0 o e i )

[Question ID = 1959][Question Description = 5Z_gSNz_PG_GP10_Q0%]
1. A, Band C only/dva A, B afiz C

[Option |0 = 7E33)
2. A CandEonly/dma A, Caliz B

[Option |0 = 7E34)
3. B, Dand E only/dwe B, [ afiz E

[Cption |I = 78335]
4, A, DandEonly/dra A, DAz E

[Cption D = 7836]

5) Match List | with List II

List 1 List 1

Learning Strategy etion taken

4. Planning and focusing attention I. Creating example
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B, Organising and remembering [Il. Self-questioning and self-testing
i_. Comprehension . Setting goal and timetables
. Cognitive monitering IV, Using mnementcs, imagery

Choose the correct answer from the options given below:

it -| it 7t -1l A e i ¢

el -l et -l

(s ToEff) (BT arf ariars)

., Tl o Lo aiieeT o |, TETEFOT Fellaal

B, safie JiiE w0 AR U e s

. dter I vz = <raver vzt ovesfeon
[ £ o [ i I, T & yfvavae o gEieT

oitdr e =1 Rt 3 3 w0t o gl

[Question ID = 1960][Questicn Description = 52_gSNz_PG_GP10_Q10]
1., A-1,B-I1,C-I, D-¥

[Cption D = 7837)
o A, BN, CI¥, D

[Cption ID = 783E]
AN E-IV,C-, D

[Cption D = 7839]
4, AW, EB-1,C-1 DA

[Option |0 = 7540

6) The kind of sample that s simply available to the researcher by virtue of its accessibility, is known as
UERIE 3 381 WEIR O KA w4 3 e S 3 50 Ang 9e1 ggd & B elersal @ JacTeel § -

[Question ID = 1961][Questicn Description = 52_qSMz_PG_GP10_Q11]
1. Quota sampling/ e qifeem

[Option |0 = 7541]
2, Snowball sampling f z=imio o e

[Option | = 7542)
1, Convenience sampling, @ gifcem

[Option 1D = 7543]
4, ‘Web sampling /g gffrmem

[Option |0 = 7844]

71 Which among the fellowing is the names for validity whereby researcher uses a future criterion measure, rather than a contemporary one?
Fu ftrr @ B Broiiaa 3t 3 o o 2 e g mn sitteral sennrefis meons 3 O T OF 4 BecUs AT 6 O e & 7

[Question ID = 1962][Question Description = 52_gSMz_PG_GP10_0Q12]
1. Convergent validity adSrach Geen

[Cption |0 = 7845)
2. Pradictive validity sRweaaeres Sieo

[Cption |0 = 7546)
3. Construct validity ! zaoo Soen

[Cption |0 = 7847)
4. Concurrent validity Sl S

[Opticn D = 7848]

8) Given below are two statements

Statement I: If we are interested in the worldview of members of a certain social group, a qualitative research strategy that is sensitive to how
participants interpret

their social world may be preferable.

Statement I1: If a researcher is interested in a tepic an which little or no research has been done in the past, quantitative research may be easy to
employ because

there is little prior literature from which to draw leads,
In light of the above statements, choose the most appropriate answer from the options given below
o t e Ruam & ¢
o - | 1 aft mn oitoa amthas JgE © fra dliécato f =6 w260 E, oo 3 s et it sfooe 8 waxd £ st aeoPrl 6 ot senfis gfirm 9 sarem o
gffr Tiad 21
e - || 1 afe Rt giermsad @t =Ry D31 Freey 3 8 Braas swila 3 s oo wo osnd olter o gan 2, A sovreares oiter e5wan ailPes g 2 araiifs Y agn won od anfRes @9
Bt merrm B a8
U W] d@F AERe i, ofil T ore Reredl # 3w Sy Ine W o dhife

[Question ID = 1963][Question Description = 52_gSMz_PG_GP10_0Q13]
1. Both Statement | and Statement || are correct/ o | #fir | Qo 2oft &

[Option |0 = 7849)
2. Both tatement | and Statement |l are incorrect faseaar | iz 1l e o &

[Option |0 = 7850
3. Statement | is correct but Statemsnt || is incorrect farm | w2 5, R geem || oem 2

[Option |0 = 7851]
4, Statement | is incorrect but Statement |1 is correct/arm | #mm £, Reeg wem || 26t 2

[Optien ID = 7852]
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9) Match List I with List Il

Lisk 1 List Il

Research Design Type of study

4. Sampling desien I. Pre-planned design for analysis

B. Statistical design I, Structured or well thought out instruments fer collection of data
IC. Observational design Ill. Advanced decisions about operational procedures

I Operational design I¥. Probability sampling design

Choose the correct answer from the options given below:

et - | o gt -1l g ot

gt -1 et -1l
(2dits Framran) (FETTET €T (aT)

4. i B |. B < o gt RN fomesel

B. wifierdt Bamem 1. amepcst wimgeon oF FRftn @ gt sweaor
C. fprvr Rz I, oEnewr wgft & saer # st Rk

0. TEmEn Faamre IV, FisrenT Offers e

after fey vy et 3 & ot o ofng ;

[Question ID = 1964][Question Description = 52_gSMz_PG_GP10_0Q14]
1. A-IV , B-l,C-1l,D-l

[Optien ID = 7853]
2, A-1,B-Il,C-Iv,D -

[Optien ID = 7854]
3 A-M,B-N,C-l,D-I¥

[Optien D = 7855]
4 A-ll,B-I¥,C-lll,D-I

[Optien ID = 7856]

10} Given below are two statements

Statement I:  [n the 'befare-and-after without control’ design, a single test group or area is selected and the dependent variable is measured before the
introduction of the treatment.

Statement Il: In the ‘before-and-after with control' design, twe areas are selected but the dependent variable is not measured in bath the areas for an
identical time-period before the

treatment.
In light of the above statements, choose the most appropriate answer from the options given below
oii St e R s & ¢
e - | ¢ ok @ B gf - s - v Bersa #, e v oiter wEE @ Sy an awe B @ § i suan @ e @ A ol ek aw an moe Rpar s &
e - || ¢ Rrekye o Fme g - Az - ouwy Bass 4, €5 Sl o oo o amw § oeey 3oz #t o, S & dvl A oo 3w amall © e Bek ow o aoe ait Been awn
FOPE oeersl @ aowies &, SiRr fov wre fosedl # & wed vogEr Yut o aver Sty

[Question ID = 1965][Questicn Description = 52_gSNz_PG_GP10_Q15]
1. Both Statement | and Statement || are correct/mrem | R |1 S0 =t &

[Cption I = 7B57]
2. Both Statement | and Statement |1 are incorrect /msemt | & 1| St sewr &

[Cption |D = 785E]
3. Statement | is correct but Statement |l is incorrect/ovem | = 8, ey w1 = &

[Cption D = 7859]
4. Statement | is incorrect but Statement |1 is correct/vem | awr 8, fomg e 1) w6 &

[Option |0 = 7360

11} According to communication research findings, some amount of gossip is necessary for
FHFEY eitel forendl O o, Grefatian & Rea @ fore o0& aga 707 - o srraeers 2 7

[Question ID = 1966][Questicn Description = 52_qgSMz_PG_GP10_Q1¢&]
1. Pro-social motivation st - meie sipn

[Option |0 = 7561]
2, Prevention of distortion/Rerfr Grmem

[Option 1D = 7862)
3. Extending communication range /i 1 on BT aree

[Option 1D = 7863)
4, Relpcation of emotional affiliations. Femrrer FRomal o o 2=

[Option ID = 7864]

12} Which of the fellowing are important in intercultural communication?
A, Valuelessness

B. Absence of respect

C. Power distance

D. Individualism

E. Gender roles

Choose the correct answer from the options given below:

Hoer: - ARk F#guer # firataiia # 3 i - Sier aecage] & @
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A. Farflorm

B. wrama o5 armiidi

C. aftront & mea ghat

D. walvrae

E. &iffrr sifdeeng

oY foo w1y faesedl # A wé yav o1 aaw Hifon ¢

[Question ID = 1967][Questicn Description = 52_gSNz_PG_GP10_Q17]
1. A, Band € only/grm A, Bz C

[Cption I = FBES]
2. B, Cand Donly/d=m B, Cofz D

[Cption (D = 7366]
3. C,0andEonly/adrm C, Dafis E

[Cption |0 = 7367)
4. A, Band Eonly/drm A, Bl E

[Option |0 = 7568)

13} Given below are two statements, one is labelled as Assertion A and the other is labelled as Reasan R
Assertion A; Smiles and laughter should ke avoided when messages are serious.

Reasan R:  Mon-verbal cues are always contextual like verbal communication

In light of the above statements, choose the correct answer from the options given below

o= &t et Bw e & ¢ e afinmer (Assertion A) @& wa & oir o1 sad o (Reasen R) @ =a @

sfrmeor (A} ; 9w wodor ohilz &, o IEeTer 9 Sxer At wisl 3 aen iy
wreon (R) ¢ diz - anfReen dAdi onfear - Fgmor # aee wfon grender S
FUINe werE! O aEre d, o Be frpedl 3t 3t 51t I o oot e

[Question ID = 1968][Question Description = 52_gSMz_PG_GP10_0Q18]
1. Both A and R are true and R is the correct explanation of A/ (A} 3z (R) <ol aner £ S (R), (&) o5t o8 wnaen

[Option |0 = 7869)
2. Both A and R are true but R is MOT the correct explanation of AS(A} Sz (R ol sea & uaig (R, (A) o) 20t comeen ol

[Option |0 = 7E70)
3. Ads true but R is false/(A) =9 &, weg (R) sma 2

[Option ID = 7&71]
4, Ais false but R is trusf{A} srr &, weg (R) 3rg 2

[Optien D = 7872]

14} Identify the sequence of human communication skills.
A. Public speaking

B. Group interaction

C. Relationship

D. Feed forward

E. Self - presentation

Choose the correct answer from the options given below
AR FFaer - wiew &5 o S ugom Hifs

A, arfafies o

B. WE st ReEn

C. Fda

D. v B

E. ¥ gagf

i féw sre frred] # 3 7t w1z @1 e Bt

[Question ID = 1969][Questicn Description = 52_qgSMz_PG_GP10_Q1%]
1, B,D,E, C, A

[Option 1D = 7873]
2. A,C,D,B,E

[Option |0 = 7874]
3. C,E A DB

[Option 1D = 7375]
4. E,C,B, A, D

[Option 1D = 7876]

15} Match List | with List Il

Lisk | List Il

Kommunication barriers Examples

i, Psyeholegical 1. Use of technical language

B. Orpanisaticnal 1. Poor retention

. Persanal 111, Functional specialisation

. 3emantic IV. Fear of challenge to authority
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Choose the correct answer from the options given below;

ot -| e 3t -1 B i e o

gt -1 st -l
(e JrRAer) (FTaor)

LY i o I. TEreE M T OEieT

B. miemims Il. frm gfivtman (gar Fréem)
. dmfamn Ill, g Ry

. grezasf IV, giifrer o6 geivit o 3=

after fey vy Reedt 3 ot o ofng ;

[Question ID = 1970][Question Description = 52_qgSMz_PG_GP10_0Q20]

1. A-1,B-I1,C-IIl, D -I¥

[Optien ID = 7877]
25 KA GBEIC N, Dl

[Optien D = 7878]
3. A-I,B-v,C-l, Dl

[Optien D = 7879]
4 A-IV,B-l,CHl,D-N

[Optien D = 7830]

16} What number should replace the guestion mark?

7, 8,9, 10, 12, 14, 16, 20, 21, 28, ?
i eE @ wia A e gttt ol ?

7,8,9,10,12, 14, 16, 20, 21, 28,7

[Question ID = 1971][Questicn Description = 52_gSNz_PG_GP10_Q21]

1. ¥

[Cption D = 7831]
1. 3%

[Cption D = 7832]
3032

[Cption D = 7833]
4, 29

[Option |0 = 7584]

17} X is as much younger to Y as he is older to Z. If the sum of the ages of Y and Z is 36 years. What is the age of X7
YaXsmmdskeBfmn e Idam aRYfizidmymaem It add, st XAt agand ?

Questicn ID = 1972][Question Description = 52_gSNz_PG_GP10_Q22]

1. 16 Years/16 aof

[Cption (D = 7385)
2. 15 Years/15 omd

[Cption |0 = 7386]
3. 18 Years/18 adf

[Option 1D = 7387
4, 20 Years/0 od

[Option |D = 7888]
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18} Two persons are walking in the same direction at rates 3 km/hr and & km/hr, A frain comes running from behind and passes them in % and 10 seconds
respectively. The speed of the train is

dehrer R #A 3 ol /@R Az ool /e Safr A on B EF oo Twendl oo dig & amdl ¥ 3z oo aer A 9 3w 10 s 3 e anf & Ioedt &t s & ¢

[Question ID = 1973][Question Description = 52_gSNz_PG_GP10_Q23]

1. 33 km/ihr/33 Batls dm

[Cption D = 7839)
2. 22 km/hri22 fpatt s der

[Dption [0 = 790
3. 44 km/hr/44 fimatt / e

[Cption D = 7891]
4. 35 km/hri35 st / g

[Cption D = 7892]

19} Given below are two statements

Statement I: Between 4 and 5, the minute hand and hour hand of a clock coincide at 20 minutes past 4.
Statement Il: Between 4 and 5, the minute hand and hour hand of a clock are at a right angle at 40 minutes past 4.

In light of the abgve statements, choose the correct answer from the options given below

it S e RRew s B ;

oo - |0 4 31z 5 @ i, o 9= O e i e el g 4 99 o 20 R o wr T st 3
ot - |l 1 4 3y 5 @ dia o ol @6 e iz deancht d 4 951 @53 40 Bee aF s O3 St #
FOIT el 9 aere d, ofid v ore Beredt # 3wt s an e dhb
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[Question ID = 197 4][Question Description = 5Z_gSNz_PG_GP10_0Q24]
1. Both 3tatement | and Statement 1l are true/arem | 87 || S e &

[Option I = 7893]
2. Both statement | and Statement || are falseSwmem | aitz [ S s &

[Cption D = 78534]
3. Statemnent | 15 true but Statement 1l is false/orem | Ie &, Frog) e | s &

[Cption D = 7835]
4. Staternent | is Talse but Statement | is true/wem | anw &, frey wem || ma

[Cption D = 7896]

20)

Which of the following statements are TRUE?
A If A's salary is 20% more than B, then B's salary is 20% less than A.

8. By selling 28 pens, a man gains the selling price of 4 pens. The gain is 15%.

C. The average of N consecutive natural numbers starting from 1 is w;}.

Choose the correct answer from the options given below

FafafE syl «= faar Fifs
ATfEATIddTE U 20% dfim e die FTaT A Y 20 % FHTI
B. 28 U 99 B¢ U% oAigd 4 U4 P 5t ma & suar oy oifSla s §1 ary 15% 81

C. 19 SRY P N T Uipa T3 @ Sfe [N;” 21

19 U e fdwel § ¥ TEl 9Tk & 98 S

[Question ID = 1975][Question Description = 52_qgSMz_PG_GP10_0Q25]
1. Aand Conly e A gz C

[Option |0 = 7897)
2. Band C only/uer B #iz C

[Option |0 = 7E98)
3. Aand B onlyfdrme A sz B

[Option |D = 7899)
4, € only /@ C

[Optien ID = 7900]

21)

Match List | with List 1]

List |

List 11

Propasition in Sguare of Opposition [Resultant Proposition

A, I "A'is Troe I. °I" is false; "0 is True

B. If 'E'is True 1. 'E' is false; ‘A" is undetermined
IC. IF°T 15 Trus Il 'E' and T is undetermined

o If ‘0" is True V. 'E'is false; T" is True

Choose the correct answer from the options given below;

it - o gt -1l g e ot
gt -1 et -1l

(Rier o 3 wed amon) (P rraf ara)

A, oE AT T R 71" s 2 O e

B. aft "A’ Tra Il "E" avemrer &; A sriseitnT 3
o, o "A" mew . "E" stz 'I' afznedifey &

D. =t ‘A T Iv. 'E srmar iy Tava i

after fey vy Reedt 3 ot o ofng ;

[Question ID = 197 6][Question Description = 52_qgSMz_PG_GP10_0Q26]

Lol

1,B-I,C-I1, D-I¥

[Optien ID = 7901]

2k

W, B-1,C-ll, D-¥

[Optien D = 7902]

3.4

m,e-m,C-1,0-¥

[Optien ID = 7903]

4, A-

W, B-1,C-Il,D-M

[Optien D = 7904]

22} When a middle term does not go further than producing a state of mental oscillation between two opposite views, the case is of

o s ] 5 Rl efitcmivdl o fia soeiies Skam 65 by scoee o6t @ amst ot = E, 1 aE Reaitifim o droimer E

[Question ID = 197 7][Question Description = 5Z_gSNz_PG_GP10_Q27]
1. Fallacy of Wiruddha /Rorg @ oot S

[Cption D = 7903]
2. Fallacy of Prakaransama Qs s J5 o S

[Cption D = 7906]
3. Fallacy of Asiddha/afs o me 8y

prepp
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[Cption I = 7907]
4. Fallacy of Savyabhichara/ wetémms @ = 2
[Cption I = 7908]

23} The Fallacy committed in the argument

"All textbooks are books intended for careful study. Some reference books are books intended for careful study. Therefore, seme reference books are
textbooks.” is

Fraferfiaa aai 3 wioren axf ong &
"anft urge gl sy aeTer g i gl 2w ol gra Wt graed € ot arnneitelor antre g aBngm geaas ' am: w Feel geaa aorgrads £

[Question ID = 1978][Question Description = 52_qgSMz_PG_GP10_0Q28]
1. Illieit Major a2z

[Gption D = 7909]
2. Nlieit Minor /fardsr ws

[Option |0 = 7910]
3. Fallacy of four Termsfure gl aa el i

[Optien D = 7911]
4. Undistributed Middle/sfsmfot 2

[Optien ID = 7912]

24} In an illustration of inference that the 'Sun moves, like other moving objects its position changes’ represents
‘gt siftrolter &, fnelt aroa oiferolter ey ot srifdt oo amfaly ufrafRlka 87t & smgramer o @6 somsvor Rrer gfirRiima wen & 7

[Question ID = 1979][Question Description = 52_gSNz_PG_GP10_0Q29]
1. Pirvavat Anumana  qEE,

[Option |0 = 7913]
2. iesavat Anurmana s e,

[Cption D = 7914]
3. Zamanyatodrsta S AmEEE T

[Cption I = 7915]
4, Pakshta/ e

[Cption D = 7916]

25} Pick the incorrect statement
WIEI TEER 61 gleny

[Question ID = 1980][Questicn Description = 52_gSNz_PG_GP10_Q30]
1. Truth’' and Falsewood' may be predicated of propositions but never of arguments/ mrar st srre orfarg o Risra & srwt & geeg, TR0 0 Tant ot

[Cption I} = 7917]
2. Inthe case of deductive argument, the technical terms ‘correct’ and incorrect’ are used, PREEETT TRE 0¥ 396 30 FEE iR #E0T Trpstest o=k o yEite 2 &

[Cption |0 = 7918]
3. Inductive arguments are neither valid nor invalid but evaluated as better or worse/ sFEEFAE EF o o 0 80 £ 8 o & oy 2or e d507F 25 00 4 0 3 Fren =rr 3

[Cption D = 7919]
4, The conclusion of a deductive argument follows from ts premises necessarily/ Errerrr 77 o Brerd aRrmhr =t aenkee &

[Option |0 = 7920

26} What is Phishing?
e = 2 -

[Question ID = 1981][Questicn Description = 52_qSMz_PG_GP10_Q31]
1. %ending data to a hacker/ aios=i @ fiw e fomm

[Option |0 = 7921]
2, Some-cne sends legitimate-looking emails to users/wid =te gt i & geier 26t ot £-9e7 down &

[Option ID = 7922]
3. Search automatically for an item on the internet/seme @ fimft oo B FwRET meme

[Option ID = 7923]
4, Checking the spelling of websites/fdmmed & ol =i

[Option |0 = 7924]

27} Given below are two statements

Statement I: If the sensor data is outside the acceptable range, then the microprocessorfcomputer will take action,
Statement ll: Sensors in the control application only send data to the microprocessor/computer when something happens,
In light of the above statements, choose the correct answer from the options given below

ozl <t s e s & ¢

e - | 1 ol dwr s v = @ awe §, of I giiee/ ans oRiaE T

e - | ¢ o oz afn gkn & B o & Brier angEter # e g/ oo © i s §

FOID DeEll @ A §, o Bu o Rroedl # @ it 39w o1 o 16

[Question ID = 1982][Question Description = 5Z_gSNz_PG_GP10_0Q32]
1. Both 3tatement | and Statement |l are true/arem | 387 || S e &

[Optian I = 7925]
2. Both statement | and Statement || are falseSmrem | Jite | Sl s &

[Cption D = 7926]
3. Statement | is true but Statement 1 s false/mrem | ary |, Foeg weast || s 8

[Cption D = 7927]
4. Staternent | is Talse but Statement | is true/wem | smze & , Freg e || Jer &

[Cption D = 7928]
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28} Which of the following statements are correct?

A. A WLAN is a wide area network

B. A hub sends an incoming data packet to the correct device on a network
€. An IP address is assigned to a device at the manufacturing stage

D. A network Interface card is peeded to allow a device to connect to a netwerk
E. Routers inspect data packets received over the internet

Choose the correct answer from the options given below

Ferrafefian weel Uz far B

A. 3o0y T ¢ Gal B 9EF Ui oA B

B. @5 (a9) a1t 9@ 3e Ude @l oo Uz #3131 fBaes @1 fean 2

C. i ot uen Riferarior oo 3 & Reoss o R Rredisa B sman £

D. Rl Rama ot oo A Siga @7t agEitr & fore doal soobs o O ameEsanar &
E. $tadic oz g 3er Sabel o) wracs o @ §

Ffrs et 3t 3 wier A averor It E

[Question ID = 1983][Question Description = 52_gSMz_PG_GP10_0Q33]
1. Aand B only S A sz B

[Optien ID = 7929]
2. Band E only/dswce B sz E

[Option |0 = 7930
3, Dand E onlyfdwre D aii E

[Option |0 = 7931
4, B, Cand Donly/dma B, Caliz D

[Optien D = 7932]

29} Match List | with List I

Lisk | List [l
. Input device I Traffic light simulator

B. Qutput device Il Scanner

. Pointing Device [lll, Speaker

0. Sensor Device [IV. Trackerball

Choose the correct answer from the options given below:

il - et =l -l A e B

el <1 sl -1

. g s |. St o PR
B. smaoge B 1. wder

IC. cEteet s . 7z

D, Fre P . $mow wi

after fey vy Reedt 3 ot o ofng ;

[Question ID = 1984][Question Description = 52_g5Nz_ PG_GP10_0Q34]
1. A-IL,B-I,C-IV, D-

[Optien ID = 7933]
2, A1, B, C-v, D=

[Optien D = 7934]
3. A-,B-l,C-IV,D-ll

[Optien D = 7935]
B Aot B Bl T

[Optien D = 7936]

30) What are Firewalls?
ERE T T Eit & 7

[Question ID = 1985][Questicn Description = 52_gSNz_PG_GP10_Q35]
1. Used for address translation in the Network layer/Sherns frm 3 vz oo o e o St &

[Cption | = 7937)]
2. Used to store the Network Interface Card/sioerr s v ot so=ren oF B2 geit 2eft &

[Cption I = F93E]
3. Used for Metwork congestion control /ewers o T oF B g 2edt £

[Cption I = 7939]
4. Hardware ar software that sits between a user's computer and an external computer/ geirey oF Tt dr TEd awgs O 3t o s 2 Aeies

[Dption [0 = 7940

31} According to the Sustainable Development Report (2020}, the top-ranked country on the basis of the SDG Index is
e Bresrn Peald (2020) &5 sz o 2 Sil gaesios oy 020w oF wafc saimaren 201 2 1

[Question ID = 1986][Questicn Description = 52_qSMz_PG_GP10_Q3¢&]
1. Bhutan/wzrm

[Option |0 = 7941)
2, Mew Zealand/w=Eifmer

[Option |0 = 7942)

prepp
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3. Sweden foulbsm

[Option D = 7943]
4, United Kingdom fegursts Riiensa

[Option ID = 7944]

32} Which one of the following waterborne diseases does not require direct contact with water but a host to spread?
EraiiRnm # 3 Fow oo st ot a5 gane o o sa 3 gras oo 6 ol ase oo aes (See) D s 2l E

[Question ID = 198 7][Question Description = 52_gSMz_PG_GP10_0Q37]
1. Chalera/FEun

[Option |0 = 7945)
2. Malaria/ s

[Cption |0 = 7946]
3. Trachoma/ e

[Option |0 = 7947)
4, Schistosomiasis/Taedfntes

[Opticn D = 7948]

33) Paris agreement entered into force when the instruments of ratification were deposited by at least 55 countries which accounted for, at least
e # 3t sapwm ot gfiterT soenis ot o o 3t oo 55 v oR smmde & g, e 6 O arg Oy SeEi oge 5 7

[Question ID = 1988][Question Description = 5Z_gSNz_PG_GP10_Q38]
1. 30% of slobal CO; emissions S fitaos C07 J0mio as 30 %

[Cption D = 7949]
2. 55% of global Oy emissions /3wy 00y =i o 55 %

[Cption I = 7950]
3. 60% of global COy emissions/fftwr 00y F=i o 60 %

[Cption I = 7951]
4. 75% of global C0y emissions/ftwr 00y =i ax 75%

[Cption D = 7952]

34} Biogas has a calorific value of about
BT o1 DRl A GEeT ey § 7

[Question ID = 1989][Questicn Description = 52_gSNz_PG_GP10_Q39]
1. 5000 kcal per cubic meter/ 5000 frfo gF o= fies

[Option |0 = 7953]
2, 3000 kcal per cubic meter/3000 frate, gff ax e

[Option 10 = 7954]
3. 2500 kcal per cubic meter/2500 frafe gfff o ke

[Option |0 = 7955]
4, 1800 kcal per cubic meter/1800 frate, gff ax ke

[Option |0 = 7958]

35} Under which of the following agreements was it decided to limit the increase in global average temperature to well below 2°C7
Breafefian & A Rea asEia & sdila SR siam aaams 3 gfs o 2° C 3 orh offR izt o1 B feen = o ¢

[Question ID = 1990][Questicn Description = 52_qgSMz_PG_GP10_Q40]
1. Paris Agreement /ifi memsiim

[Cption |0 = 7957)
2. Kyoto Protocosl foaeiet gictams

[Cption |0 = 7958]
3. Montreal Protocol St g

[Option |0 = 7959]
4, Ria Summit s Ty Breay 2e8itcrm

[Option 1D = 7960]

36} Match List | with List I

List | List Il

4. State with the highest number of universities |. Sikkim
B, State with the lewest number of universities |l Rajasthan
iC. State with the highest GER in higher education |, Bihar
. State with the lewest GER in higher education |V, Mizoram

Choose the correct answer from the options given below:

it -| it 7t -1l A e i ¢

et -1 et -1l
Wb, RreafRrenerdl A ARG SRR A T 1, Ffrars
B. Rrafememt 6 wpvm Seen awn e 1. T
I, =oer forsw 3 oo S Jen T iILFaim
[, I fRrem 3 Poer sifam awn Free 1Y, Rt

after fey vy Reedt 3 ot o ofng ;

[Question ID = 1991][Question Description = 52_qgSMz_PG_GP10_0Q41]
1. A-1,B-l ,C-I¥,D-ll

[Option ID = 7961]
2 KA BN Ll Bl
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[Optien D = 7962]
YAl BN G D

[Opticn ID = 7963]
4, A-N,B-I¥,C-l,D-

[Optien D = 7964]

37) The oldest university in India was:
HIRT # T gaen Rrealtemee o A an ?

[Question ID = 1992][Question Description = 5Z_gSNz_PG_GP10_0Q42]
1. Malandasansizr

[Cption D = 7965]
2. Takshashila /=g

[Cption I = 7966]
3. Vikramshila Rammiser

[Cption I = 7967)]
4, Mithila/Bfier

[Dption D = 796E]

38} Central Universities are:

A. established by the UGC

B. established by an act of the Parliament

. established by the Department of Education, Government of India
D. funded by the Central government

E. Funded by the 'Niti Ayog'

Choose the correct answer from the options given below:
@4 Reafteres -

A. 7 51 3ft For Fenftlm fee s 2

B. #ime & v Aiffrm s et few s B

C. arsT e o e Rone FZm wofte Row o B

D, @i ww Fr fim o & §

E. 'SRy ameiter Zrer fom ot @ &

offsl fim o1 Rmmedl # 31 2dt o an e Wi

[Question ID = 1993][Question Description = 52_qSMz_PG_GP10_0Q43]
1. Aand D only S A Sz D

[Option 1D = 7969)
2. Cand E anlySaie € afis E

[Option |0 = 7970
3. Band D onlyfdwe B iz D

[Option |0 = 7971
4, BandE only/dwam B oz E

[Opticn ID = 7972]

39} Gross Enrolment Ratio (GER) in higher education calculated as:
Foa fonen & I s squr (Sfifane) 5 v Bregene Bt arit ¢

[Question ID = 1994][Question Description = §2_qgSNz_PG_GP10_Q44]
Number of enrolments in higher education %100 I e | AiHies= 1 i

Total population in the age group of 18—-23 18— 23F ﬂ%ﬂﬁﬁﬁ"ﬂ'@ﬂ

x100

[Option ID = 79732] _ .
Number of enrolments in higher education I {918 | AT o e

> Total population in the age group of 18— 23 Jf13 — 23 % NG YR T Pa TS

[Option D = 7974]
3.
Number of enrolments in higher education in the age group 18—23 18 — 23 Gnﬁﬁqﬁﬂ'ﬁﬁﬁfaﬂ Ao o S

Total population in the age group of 18— 23 / 18— 23 %mﬂ%’ﬂ@ﬁﬂﬂ'@!

[Dption ID = 7975]
Number of enrolments in higher education in the age group 18— 23 %100 / 18 — 23 & Y FEg = e o Aie= &1 v

% Total population in the age group of 18— 23 18 — 23 & M TG ¥ o o aeh e

[Option D = 7976]

40} Choice-based credit system of index graduate level includes:
A. Core Course

B. Elective Course

C. Ability Enhancement Course

D. Enviranment Education Course
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E. English Communication Course

Choose the correct answer from the options given below:

I ForerE T OF oy aeniyer o fegonel (2 <t w1 ow) ¥ Brrmfafian onfle 2
A. 3 (k) T

B. tftow ®R

C. g daxfa o

D. gaigzon fdien wi

E. 3@t F@qun ot

iy féw sre fRrsedi # 3 78t w7z @ wmE Bt

[Question ID = 1995][Question Description = 52_q5SNz_PG_GP10_Q45]
1. A, B and C anly/fdwer A, B aftz C

[Cption |0 = 7977]
2. B, Cand O only /v B, C afiz D

[Cption |0 = 7978]
3. C, Dand E anlyfawe C, D IR E

[Cption |D = 7979]
4. A, B and E anly/fdweer A, B afiz E

[Option |D = 7980]

Topic:- GP10_D2_SH1_SET2 C

1) Read the given passage carefully and answer the following question,

Two factors have mainly caused the present disastrous conditions and events, One is the change in rainfall pattern resulting from climate change. The
mansoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the scil in the
plains and the hills and fer many manmade structures to withstand the impact. The high altitude areas aleng the Western Ghats have been especially
vulherable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situaticon in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat 5tate which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhay Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committes under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implementad. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future, Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ol Rw 717 sreniyy Tl SARIgd™ Usp 3HW W U g8 918 gE T IR e !

o frargrsrd Fafi o aewn & yeaw: 21 e § oo § sonry aifedsn & corawa aaf lied J offefs aream sraes ofYalfta @ sreo § i scres BRI 3 25 archt aaf s oo
eat = =it 3 & & elt 2 warasd digEl i uddE gl 3 B ofi aern wmem Fifia e et gua o5 o6 o ura & aiined a9 3ne & A S e e, i,
aeil & Freds, meE iz wem, awa abi o o, siel o g il e S raaen, ahrfpr g abaiic wbion S0 sifaiie & soaue a S Afum @ on ge,
anfe & eoram, sraities Saemite B 8w e - aEe S agfde wa d oftol are &, S aldfafichty efte 3 sraftes 599 s gorare E, 6 ol falfy 95 B ol
& ol o o oo T, Bieer gafaaor B maites af & &, 33 & mwiftrs oifer o &

Fer w=Rer athk 3 ol o gataeo 9 Roner wr atarror s @ s Rrader o gfewee o oo auldea smpeiamd & E e whhfr &6t Bt 22 <6 St 3 W Rew arw afte
SIS IRl Ot Geom oot O i 3. ot oo At apaswy # v s Abhil oifdh o & o ooiera AR St srguinai ot §t i of e sen wosRrr & 2013
# &t siferwy @ foro dnmaedt £ oft e At adl [t @ ©F g1 ol oI Bad e - i o @ TEE I A9 YRERs Seels SiiT e e g AIERD TEeiel M 9IEE i
#51 st araoralt ot syren ang & e o arfer B o el 2 madt 2 oty genfa Wt Tt 4 getiator 3 Hodl ad sEtet mer af et uE # e gl O s Breoge ocf et
oIt E

Man-made structures are unable to withstand the rafn impact due to
wra Bt @ik aal o g azm wEl oy o § o

[Question ID = 1996][Questicn Description = 52_qSMz_PG_GP10_Q46&]
1. The steepness of high altitude areas /e st ot £k 6 w07 arfinrs == £

[Option 1D = 7981)
2, Change in monsoan behaviour in recent times/wwr @ e 3 oo e ¥ ohoda @ &

[Option D = 7982)
3. Mon-stop rains over a longer period. afins widt woffr o demme oot guft &

[Option |0 = 7983]
4, Soil accumulation in the plains/ ol g 3 G} 2w g &

[Option |0 = 7984]

2) Read the given passage carefully and answer the fellowing question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
callectively contributed to the present situation in the Western Ghats region which is ecolegically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented, Gadegil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal hatural events and the huge devastation caused by them now may only be
intimations of bigeer calamities lying in wait in futura. Lives which are lost now will not be regained, and nature which is last will take

several hundred years to rebuild itself, The sreater tragedy is that the lessons of the tragedy are not learnt at all,

ol Rw 717 sreriyy Tl SaeIgd™ UG 3HW WUR U2 g8 918 g T IR e !
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aiaet Ry fraf a ocen © fEern: 9 oew E uw § oy abraria © woaraen aut God # ufiwia aenm waer aftakin 21 o # e as e # 8 aeht aaf am o
Teat = =it 3 & & el 2 warasd dierEl i adldE gl 3 B ofi aern wmem Fifia e et gua o5 o6 o ua & aiined a9 ane & AR S arc e, i,
it ds Rieawr, merd dite wotr, @ afiert o oo, sl T e mitfRaas st Bt seraen, ARRRE a aRmb odoa Siaf AR b5 Seorter a S Rife a5 w39,
anfe & eoran, sraitis Sasmoita B 8w e - aEe S afde o d ool are &, S aldfaficbty efte 3 sraftres 599 s gorars §, 66 el faly 95 o ol
3 uiel o w5 TeE, Rl wEiasr S aaiifee el B 8 53 & el efer g 3

Fner w=Rre athks 3 el e geataeo aF Roner wr atarror fise @ s Rrader o gfereee o oo axddera opeiamg @& E o @l &6t B @t 22 <6 St 3 v RBew arw afte
SIS IRl O Ge oot O fim 3. o, oot it aaswy # v aea At oifdh o & o woeiera AR St srguinai ot it i o e sen osRrr & 2013
# &t siferey @ fore dnmasdt £ oft e At ard [t @ ©F g1 ol @i dad Oae - i o @ TEE I AR YREiies Seels Sl o 0 5 MR fEee | 9IETE AT
#1 wdt arrasTalt o FpEen ang @ s o afer @Y aromE o 2 wendt 2 oty gafer ot wewd A geifeiafor 3 Hws) wd S5 med wft gt ue E Ry gl O smos R o st
oIt E

Which of the following factors have affected the western ghats?
(A} Sensitive bio-diversity

(B} Formation of human settlements

(C) Flera and Fauna of the area

(D} Promation of unchecked tourism

Choose the correct answer from the options given below
Terraaferfian & A frar ot o ui2el are © ok e 3 7
A, srrafinp FHaeerelta dia Rifern

B. wmem afdat @ foair

C. & &Y gerrufa siiz ol - sig

D, afemifn oedoor @1 seeA

o<y fow o1y Rrredl ® 2 5t o ot ¢

[Question ID = 1997][Question Description = 52_gSMz_PG_GP10_0Q47]
1. Aand B only S & sz B
[Option |D = 7985]
2. Band C only/der B &z C
[Option |0 = 7986]
3. Cand D anly/ i C aftz D

[Option |0 = 7987)
4. B and D onlyS et B afis O

[Option D = 7988]

3) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
mansoon behaviour has changed, and rainfall that used to happen over many days accur in a day or even in hours, making it difficult for the scil in the
plains and the hills and for many manmade structures fo withstand the impact. The high altitude areas along the Western Ghats have been especially
vulherable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural #vents and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future, Lives which are lost now will not be regained, and nature which is lost will take

several hundred vears to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

o2y Fow 1o sreaior =61 eanmgeios OGRET YA MIENT O O S O o Js St

o frargrsrd Fafi o aewn & yean: 21 e § oo § sonry aifeds & sorasa aaf lied J offefs arsam srees ofyalfta @ seo § i acres BRI 3 25y archt aaf s v
B an gt 3 & & et & worsmsn fiowelt iz i 8 A Ol iz aewen arem ila = s gue osa ol o o € Bl e 4 g @ it e a @i, A,
aeil &5 Freds, meE 4z wem, Jwa abi o o, siel o aea il e S raaen, ahripr g abaiic o S0 sidaiie & soaue a S Afuam @ on ge,
AitE & orm, Araitcs Facaefia ¥ A 39 aer - At A Afder = A uieh aw &, @ mbRuieb it 3 sraftne #@9d sz goaam &, o adare G o e st
& ol o o oo T, Bieer aafaor B maites af 6 &, 33 & awiftrs oifer 5 &

aem srshrT afaty o ulinht ax aataeer @ ey o e i § i Rt o gfitor @ R mozien sreieng & o @il Bt B it w8 ot St 3 Wi Ren own aiie
e gl @ sow ol & Ry 31 o wepftiee Ot aswen 3 v sisw afhl ofn wr & o asmitem atifi S sspsiasil @ A eedfen 5 e e sosfier 3 2013
# & witeree o ferw <remessit &t e fn Zion el raAdt @ R et il aeal e TR - Oiw ad & Sl 3 arETH QIR Sooits afiE Tors T 54 AT Risitel e onRTG Wi
&1 =t amosrait A5 Foen An @ e & @fer B s Al 8wt E iz gapli it ra & geliaion d Hosi ad asie Aeet adt opedl T & I gt o mae Ry o 20
1 1 S

A particular state in the Western Ghats has suffered the most because

af2pit me s g ey o o 8 matites st o= 52 2 7 ol

[Question ID = 1998][Questicn Description = 52_qSMz_PG_GP10_Q48]
1. It has caused most damage on the envirenment /2w wefrem wr amfinr wif oz 2

[Qption D = 7989]
2, It has most of the biodiversity hotspots of the country femt S 3 Sha R @ oiFee g e &

[Cption |0 = 7990
3. The state has many hill stations e 3 aeas aefifer e F

[Cption |0 = 7991]
4. The state has too many checks and regulations regarding environment Sz 3 weduau skl amber Masafts o §

[Option ID = 7992]

4) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events, One is the change in rainfall pattern resulting from climate change, The
mansoon Behavicur has changed, and rainfall that used to happen over many days accur in a day or even in hours, making it difficult for the soil in the
plains and the hills and fer many manmade structures to withstand the impact. The high altitude areas aleng the Western Ghats have been especially
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vulherable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable, A western ghat 5tate which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Cormnmittee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committes under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future, Lives which are lost now will not be regained, and nature which is lost will take

several hundred vears to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ol Rw 717 sreriyy Tl SAeIgd™ Usps 3HW WUR U g8 918 QE T IR e !

o Frorgrsrd Fafi o aemn & yeaw: 2 e § oo § oo aifeds & covawg aaf led J offefs aream srees ofyelffa @ sreo § i aores B 3 25 archt aaf sm oo
et o |62 3 & & wEdl 2 e JierEl iz uddie S 3 B ofi s e Bifia 2k saet guE s o o uia § uiel ar & arg & aftes sa ad 89, afeegam,
weil & Preds, meE 4z e, awa ab o o, et a aea il el &t Faaen, aBritpr g abaiicn oo S0 siRdaite & soagea a S Afum © on g,
anfe & eoran, sraities sRaeselel B A we et - e 3T gl wa 3 aftel ar g, S ai¥frafichty eite 3 sraftie w538 s goerarm §, 6t aviars Fraly 95 o sawerd
& ullt o w o Tsa, Bras gafaeor 6 aaifce it & &, 33 & awiftes o g &

Fner wsRer atik & el o getaeo 9F Roner wr atartor fisem @ s Rl o gt o oo afdea smpeiamg @& E e whhfr @6t B it 22 <6 et 3 v RBew arm afte
SIS IRl it Gee aet O i 3. ot vt it apaswy # v s At oifdh o & o ooiera AR $t srguinai ot it i o e sen wosRrr & 2013
# &t siferey @ foro dnmasdt £ oft e At ardl qeet @ ©F g1 ol o dad a9 - i o @ TEE I AR YREiRs Sees SiiT e e g AR fHeel A| 9IETE i
&1 it amosrait I Foen An @ e & @fer B s a8 weedt E iz gl it 7o & geliaion d Hosi ad ot weet &t opedl T & i gt o mae Ry a 20s
oIt E

What is the real tragedy with respect to natural disasters in the Western ghats?
aftalt wre 3 grepfires faoer 9 wiest O arrafaes et oo £ 7

Questicn ID = 1999][Question Description = 52_gSNz_PG_GP10_Q49%]
1. Loss of human lives/mawil 9 o o

[Cption |0 = 79593)
2. The abnommal natural events/ smmEms=r g oo

[Option |0 = 79594]
3. Mot realising the gravity of the consequences of climate change./swem uferfs oF ofroEl o switzn 5 amuf @z

[Option |0 = 7995)
4, Downgrading the disasters/ oz @Bt doit oo e

[Option |0 = 799§)

5) Read the given passage carefully and answer the fellowing question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
mansoon behaviour has changed, and rainfall that used to happen over many days occut in a day or even in hours, making it difficult for the seil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, fermation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
callectively contributed to the present situation in the Western Ghats region which is ecolegically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The repart of the Madhay Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented, Gadegil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal hatural events and the huge devastation caused by them now may only be
intimations of bigeer calamities lying in wait in futura. Lives which are lost now will not be regained, and nature which is last will take

several hundred vears to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ol Rw 717 sreriyy Tl SaeIgd™ UG 3HW MR U g8 918 Qa7 IR e !

actame Renyrrr frafi g ocen © fEern: 9 Trw o § sy abvaria © waraen aul God # ufvwia aenm saer aftakin 21 o # i ase e # 8 aeht agf s oo
Fear an aet 3 & 21 Sl B worsasa Fisrstl sive o A1l 3 Bl iz s soea fafila e yaos e anm w5 ot § ofiell aw oY arver & aifties St o 8, aftmsor,
ait @ Fiedw, ot dite o, aer afioRi @ R, el @ s e Sl A FeTaen, AR @ aRmbe oden S SRR & seorer @ da RRET & x 29,
anfi & e, acaites Adedlia A 79 3R - 2R A At wa A ofieh @ iy, S aiiPaRebi wfite & swaftre 535 S g E, 6t adma Bl o Reg auserht
3 ufel me w o TeE, Rl wEiae & aaiifee e B 8, 53 & i afer g 3

HIEM AAERET J@fbk &1 aBeh g a&atae @ Reoe o deraE Ren § i Bt & gfirer @ o aoisem aaeiamd Gt 2 s3 afilby 6t B o6t 21 <6 2t & e B e ot
SIS IRl O Gept oot O i 3. ot avepdidera At apaswy A v e Abhl oifdh o & o wiera AR St srgeinai ot §t i o e sen sosRrT & 2013
#A ft sifaey @ Fro Troasit 2t 21 e @ el Gt o) ©1F ger sl ave dyacr arg - i ad § oRiEl & smars  greefies aesind A yerds wereer B st facier s eiras wifasa
#t wdt arasTalt o Fpmen ang @ sa o afer @Y aromE o 2 went 2 ot ganfEr ot w4 geifiiafor 3 Hws) wd e med wft gt we E Ry gl O smes R ol At
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The author of the passage regrets
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[Question ID = 2000][Questicn Description = 52_gSNz_PG_GP10_Q50]
1. Emvironmental ignorance on the part of policyrmakers /st et 5wkl s &

[Cption D = 7997]
2. vulnerability of high altitude areas/ affrr Soa w1 67 25t araifer et &

[Cption I} = 799E8]
3. Impact of environmental disasters/ wkeoie Femsr 9 gar &

[Cption |0 = 7959]
4. Hon-implementation of reports of comimitteess, akiET 5 BT o Rt o Frel o &

[Cption (D = 8000
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